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= 8,694
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O SDIABINE NSRS EAS
80,0002 x8H +33] 1,920
307 glztol & 3,500 0 3,500




AN SRS
M mA2 MM RS2
Rl ABNY =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,750
Al 1,750
02 2IZHB A E £ 3,500 0 3,500
O MR OfEY AR
4,0002 *3,5004!%25/100 3,500
= 1,750
Al 1,750
308 AHAIEHMSOIE 2,483,405 3,179,268 695,863
== 1,169,296
Al 1,314,109
08 WFJ|20tetEx 2,483,405 3,179,268 695,863
O st RAZA XA (10400 12)
2,483,405,000& 2,483,405
= 1,169,2%6
Al 1,314,109
cletd SAKIEAY 972,288 911,887 60,401
= 247,352
Al 724,936
307 @120l & 3,227 2,090 1,137
== 968
Al 2,259
02 LB MANHEE 3,227 2,090 1,137
O Oeloly dedsdts SAKEH
3,227,000& 3,227
< 968
Al 2,259
308 AXIMSOIA 969,061 909,797 59,264
= 246,384
Al 722,677
08 WEII20UStEx 969,061 909,797 59,264
O FsAsae SDIA AL
969,061,000 969,061
< 246,384
Al 722,677
St ure2ta) X2 167,179 117,802 49,377
= 20,372
Al 146,807
307 elztol & 167,179 117,802 49,377
= 20,372
Al 146,807
02 2B YAIHE A 167,179 117,802 49,377
O &tul Htztal X 167,179,000 167,179
s 20,372
Al 146,807




AN SRS
M mA2 MM RS2
o9l ABLY =4 (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZZTCRE MAAH DRES XA (HEALY) 33,000 27,000 6,000
= 16,500
Al 16,500
307 el2to| & 33,000 27,000 6.000
= 16,500
Al 16,500
I YOYETEES 33,000 27,000 6,000
O ZHTCAMY MuLl DRES N
33,000,000& 33,000
== 16,500
Al 16,500
SciSE2elAA Y 2SI 14,000 14,000
308 XXM SOIH 14,000 14,000
13 272+ S0ICHEH 3 AL E SISt At 14,000 14,000
O eijjziseReNLAY 2% X2
14,000,000 14,000
NEHAel d== A == 20,850 20,850
206 M= 6,000 6,000
01 b 6,000 6,000
O B2 MAK XX =X A 72
6,000,000& 6,000
402 BIZtAH=01H 14,850 14,850
01 DIZHAFE A2 X (T AITHE) 14,850 14,850
O B2 MAX XX MAAL N8
29,700,000 *50/100 14,850
A SERME=Y 2,79%.,064 4,143,801 N1,349,737
= 398,720
Jl 269, 162
s 726,239
Al 1,399,943
20 B2 MAAIM X 362,800 1,010,000 AB47,200
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Al 5,460
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O 442 SEAE =l N
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= 1,050
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wAh 2t Xl X 2,000 2,000 0
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O =430l sl XA
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8,018,000& 8,018
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